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SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12)Answer  any TEN  questions

        1.   What is meant by OR?
        2.   What is meant by linear programming?
        3.   What is transportation problem?
        4.   What is the objective of assignment problem?
        5.   What do you understand by ‘feasible solution’?
        6.   State the meaning of ‘‘Time Calculation’’.
        7.   What is network scheduling?
         8.  What do you mean by queuing theory?
         9.  Mention the elements in a ‘‘Queue’’.
        10.  What does ‘‘Float’’ mean?
        11.  What is meant by Saddle point?
        12.  What are the types of decisions?   
SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions

13.   Write the scope of operations research.
14.   Assign the mechanics to the machines such that the total production cost is minimum.
                                                Machines
                                          1    2    3    4 
	     8    2     6     5
    10   9     2     8
     5   4     9     6
    3   6     2     8


                              A
      Machines        B
                             C
                             D

15.   Solve the following transportation problem.
                              A        B         C        a1
	10        9          8                                                           
10        7         10 
11        9          7
12       14        10


             F1     
   8             
             F2                                
   7
                      F3  
   9
             F4  
   4
             
 (
[P.T.O.]
)              b3                 10       10          8

16.   A project has the following characteristic.

	Activity :
	A
	 B
	C
	D
	E
	F
	G
	H

	Predecessors :
	 -
	 A
	A
	B
	B
	D,E
	D 
	C,F,G

	Duration ( days)
	 2
	 4
	8
	3
	2
	3
	4
	8



17.   Explain the characteristics of queuing system.
18.    A small industry finds from the past data, that the cost of making an item in Rs.25, the selling price 
        of an item is Rs.30, if it is sold within a week and it could be disposed at Rs.20 per item at the end of 
        the week.
	Weekly sales:
	≤3
	4
	5
	6
	7
	8

	No. of weeks:
	0
	10
	20
	40
	30
	0


      
                   Find the optimum number of items per week should the industry produce.
19.    Bring out the differences between transportation problem and assignment problem.	

SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions

20.     Solve the following linear programming problem:
      		Minimise     z = 3x1 + 5x2
     		Subject to  -3x1 +4x2 ≤ 12
                        		  2x1- x2   ≥  -2
                        		  2x1+3x2 ≥ 12
                         		   x1 ≤ 4
                         		   x2 ≥ 2
                         	            x1,x2 ≥  0
21.    Solve the following transportation problem whose cost matrix, availability at each plant and  
          requirement at each  warehouse are given as follows:
                  Plant                      Warehouse          Availability
                                    W1       W2      W3       W4
	         190    300    500    100
         700    300    400    600
         400    100    600    200
	70
90
180

	         50       80     70      140
	340


                 p1
                 p2
                 p3
 Requirement                     






22.   The following table lists the jobs of a network with their time estimates
      
	Job
	Optimistic
	Duration days
Most likely
	Pessimistic


	1-2
1-6
2-3
2-4
3-5
4-5
6-7
5-8
7-8
	3
2
6
2
5
3
3
1
4
	6
5
12
5
11
6
9
4
19
	15
14
30
8
17
15
27
7
28



      		Draw the project network and calculate the length and variance of the critical path.

23.   Two firms are competing for business. Whatever firm A gains firm B loses. The table below
         shows advertising strategies of the firms and the utilities to firm A for various market shares
          in percentages (assuming this to be a zero sum game)
	
	Firm B
	Press
	Radio
	TV

	Firm A
	Press
Radio
TV
	60
75
80
	45
75
60
	40
60
70




     	 Find optimal strategies for both firms and excepted percentage of market shares to firm A.                      
                                 
3

